
Lec5 Parallel, Intersecting Lines /Planes, stew Lives, Distances

+ Like arrangement in t3

They are either:
* Parallel
* Intersecting
* Stew (nether) a Mast likely, whee drawing, random lives
Intersecting
Ex. fund intersection between ñiCt) = (2,3,3> + t 41 ,1,23

pa (t) = 41,4,27 + +811-1,18
= Set up a system (with afferent variable for each)
So 247 = 1+8

3++ = 4-5
3+2 = 1+5

t=0, s=1

Then solve it.

point of intersection is (270, 3+0, 3+0) = (2,3,3)

Parallel

Def. it and i with ü, o tö if incì for c+0.
or if üxü =0.

.... »
So



# Plane arrangements in tR$

They are either:
* Parallel
* Intersecting

• Normal vectors are parallelIntersection is a live

Ex. fuse live of intersectionbetween

# Distance between point and live in R°
Porst: P = (Ro, yo, z0)Live: ilt): (81, y., 2,> + t (a, b. c)

Ex+3y +2=10 one8*+97+28=9 gran able it buy picking pic

(shorteent is to minimise squaned distance point at ilt) and I is minimised
> Geometric way

s Find t such that the distance between

p= (Xo,yo, do)

= IPQ× (a, b, c>I

Just solve
х, у,8 as

le
dist



# Distance between pourt and plane in R°
Let P= (X0, 40, 20)

axt by + cz=d
> We can also mmise

- Geometric dist
cos 0 = UPer

dist = La.b, cs •apka,b.call
à


